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2. (a) Given that  3a(x + 5) = 114, find the value of x when a = 4.

(b) (i) Find A, the solution set of  3x – 5 < 7, x∈ .

(ii) Find B, the solution set of  − −
≤ ∈
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(iii) List the elements of A B∩ .

(c) Let f x x x cx d( ) .= − + +3 22

(i) Given that  f (0) = 6, find the value of d.

(ii) Given that  f (3) = 0, find the value of c.

(iii) Hence, solve the equation f (x) = 0.

3. (a) Multiply ( )( )3 1 2 5 42x x x− + −  and simplify your answer.

(b) (i) Solve for x and y

2 13 3

2
2

5

x y
x y

= +

=
− .

(ii) Hence, find the value of 4 2( ).x y−

(c) (i) Solve for x
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(ii) Verify one of your solutions.

ANSWERS

2. (a) x = 4.5
(b) (i) A = {.....–2, –1, 0, 1, 2, 3} (ii) B = {–2, –1, 0, 1, 2,.......}

(iii) A B∩ = − −{ , , , , , }2 1 0 1 2 3
(c) (i) d = 6 (ii) c = –5 (iii) x = –2, 1, 3

3. (a) 6 13 17 43 2x x x+ − +
(b) (i) x = 2, y = –3 (ii) –28
(c) (i) x = − 2
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